
Kids Kitchen Cart
TP10051

USER’S MANUAL

THIS INSTRUCTION BOOKLET CONTAINS IMPORTANT SAFETY INFORMATION. PLEASE READ AND KEEP FOR FUTURE REFERENCE.



Before You Start

Warning for Assembly

     Assembled only by adults 

     Remove all Packaging, separate and count all parts and hardware.

     Read through each step carefully and follow the proper order.

     We recommend that, where possible, all items are assembled near the area in 

which they will be placed in use, to avoid moving the product unnecessarily once 

assembled.

     Ensure a secure surface during installation, and place the product always on a flat, 

steady and stable surface.

General Security Warning

Caution: The Product is not suitable for the children under 3 years

Danger: Keep all small parts and packaging materials for this product away from babies 

and children, otherwise they may pose a choking hazard.

Danger: Lack of attachment may cause a risk of tipping.

WARNING:
CHOKING HAZARD-Small parts.
Not for children under 3 years.

0-3

Please read all instructions carefully and keep it for future reference.

02



B x1 C x2 D x2 E x2

F x2 G x2 H x2 I  x1

A x1

J  x2

K x2 L x1 M x1 N x1 O x2

P x1 Q x2 R x2 S x2 T x2

U x2 V x6 W x26 X x2

6x16 M6x16 M6x30 M4x8

M5x23 M4x45 M4x35 M3x28

x1 x4 x2 x1 x1

03



A

QX2
CX2

RX2

SX2
EN:
Assemble the wheels C on 
the board A, and fix the 
wheels C with screws S, 
bushings Q and nuts R.

01

EN:
Assemble boards 
D, E and F with 
screws V and W 
based on the 
assembly in step 1.

02

EN:
Install boards G on the 
basis of the assembly in 
step 2.

03

EX2
DX2

FX2

WX6

VX2

step 1

G x2

Step 2 

04



EN:
Connect boards H with 
wooden stick I with the 
screws W.

04

Hx2

I
WX2

EN:
On the basis of the assembly 
in step 4, use screws W to 
assemble the board B.

05
Step 4

WX4

B

WX6
VX2

Step 5

Step 3

EN:
On the basis of the assembly 
in step 3, use screws W and 
V to assemble the assembly 
of step 5.

06

05



EN:
Assemble part J to 
board K with screw X. 
Do this twice.

07
J

K

X

EN:
On the basis of the assembly 
in step 7, use screws W to 
assemble the board N.

08

WX2

Step 7

N

EN:
On the basis of the assembly in 
step 8, use nuts U and screws T 
to assemble boards L and M, 
and then thread the screws V 
into the top holes of boards K to 
facilitate the assembly of 
wooden sticks later.

09

M L

Step 8

UX2T X2
V X2

06



EN:
Install the assembly of step 
11 to the assembly of step 6 
with screws W.

EN:
On the basis of the 
assembly in step 9, use 
screws W and screws V 
(threaded on boards K) 
to install the assembly 
of step 10.

11

EN:
Thread the sticks O onto the 
cloth P.

10

OX2

P

WX2

Step 9

Step 10

12

WX4

Step 6

Step 11

07



Your toy is only meant to be assembled once.
• After you have assembled your toy, do not dismantle it again as this 
may weaken the joints and screws leaving the toy unsafe for use.
• Regularly check that all of the bolts are fully tightened.(But do not 
over tighten) 
• Do not allow children to sit, stand, play or climb on the top surface. 
Failure to do so may cause the product to become unstable. 
• Use the toy on a flat level surface only.
• This Kids Kitchen Set is not suitable for outdoor use. The coatings will 
become scratched and product damage may occur.
• Please check the assembly of the toy regularly and frequently tighten 
the bolts. If regular maintenance is not carried out, the product may 
cease to function properly.

13

WARNING:

08



Please give us a chance to make it right and do better !

Contact our friendly customer service department for help first. 

Replacements for missing or damaged parts will be shipped ASAP !

Contact Us !
Do NOT return this item. US:cs.us@costway.com

UK:cs.uk@costway.com
AU:cs.au@costway.com

US office: Fontana      UK office: Ipswich      AU office: Truganina


